719 AZ2ERA

GO )

9] A Aol el B P 22+ | 20134 71 | 20134 HF
AFS] A B T e (B) Ak (A) 4t (A+B)

A £92,373 68,440,083 68,347,710

792,373 68,440,083 68,347,710

& £96,504 67,464,459 67,367,955

8544 27,649 4,685,519 4,713,168

IESHFNEEY 1,200 131,546 132,746

FSHALY 24,300 20,380 16,080

1. 28 HF S IAS 25,000 7,610 2,610

7F 2009708 S g A4 5,000 7,610 2,610

1) A=Az ukgk 210-01 |10,0009 X 100% = ~5,000 6,000 1,000

2. [ER] &G A 700 0 700

7} gAY 700 700

1) eln) 210-01 |1,0009 x700%-= 700 700

2o AN TL 9% 5,500 78,330 83,830

1. [Bx]IXHFHTLD 3 500 0 500

7}, 155 A D E X e n) 210-01 [500,0009 x 13]= 500 500

2. [En]l 2875843 5,000 0 5,000

7}, #Fo) A A 3 2 =] L Al E] 5,000 5,000

1) oln) 210-01 |5,0009 x 300%-= 1,500 1,500

2) A7) 210-01 |13,0009 x 1007 = 1,300 1,300

3) duw 210-01 |14,0009 x 59 x 107 = 700 700

4) Z3Ar e [AHEEAR2] 210-06 |100,0009 x5% = 500 500

5) 7+3] 230-02 |20,0009 x50 = 1,000 1,000

Ea=PAR 57,600 429,091 486,691

zsla%ok@}x] 57,600 429,091 486,691

R =S A A BT = e R B 57,600 0 57,600

7} B e AR PR 57,600 57,600

1) sy AlE] ¢ 10,800 10,800

7h oin] 220-01 |20,0009 x 157 x 368 = 10,800 10,800

2) Folrt=stsA g Z AP A n AR Y 46,800 46,800

7h AME 2=} 210-06 |50,0009 x 36 x 203] = 36,000 36,000

) ofH) 220-01 |20,0009 x 15 x 363] = 10,800 10,800

A AR E 23,000 81,990 78,990
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719 AR R s wSX] A (Sl @ H9)
Hopnm R 9] Al - AF el B NESE 227 | 20134 714 | 20134 HF
A+ AFS) AR B - = - (B) of| 2k (A) A 4H(A+B)
HAZZ=AATHZER Y A3,000 81,990 78,990
1. AR ZA A=} 2 I)2 A3,000 33,240 30,240
7} ARE=A A £3,000 4,500 1,500
1) o14n] 210-01 |09= 23,000 3,000
SolagANE A14,220 1,021,622 1,007,402
AFL 421929 214,220 606,182 591,962
1. A 8-X YA/ A 26,900 369,000 362,100
7F AP S-2] 9 w9 2] -7 A1) 240-03 |350,0009 x81% x 129 = 24,200 344,400 340,200
U A SR G g xS0 n8] (3278 | 240-03 50,0009 X 737 x 69 = A2,700 24,600 21,900
2. A X Q7| A AR A 26,000 12,000 6,000
7F AP A D 7] o A AR 620—10 50,0009 %1209 = £~6,000 12,000 6,000
3. AH & x Qe A1,320 69,960 68,640
7F A S x| ek kel S 240-03 110,0009 X529 x 129 = 1,320 69,960 68,640
EZgSRAT 3,412 568,251 571,663
ETagusstEA Y 3,412 185,000 188,412
1. ES A QAEHSIA ¢ 3,412 185,000 188,412
7}, 174N 3,412 101,906 105,318
1) AlFA A 783 101,906 102,689
7hH HRAAYZFHRSE 320-05 [261,0009 x394= 783 783
2) X BA} 2,629 2,629
7hH HRAAYZFHESE 320-05 [2,629,0009 x 1= 2,629 2,629
38 w884 31X 9 A259 95,158 94,899
B =T B N R PR 1,741 45,898 47,639
1. FAF R =zl AN 1,050 22,489 23,539
7} A7 2E TP 110-03 |50,0009 x4 9= 200 200
U HAAH G SE 320-05 (850,000 %14 = 850 850
2. 9 wAR 2Pl AN 691 22,489 23,180
7b 23T ad 320-05 |8,7699 X 17 x 94| 7t= 491 334 825
. A7 ZE 7 110-03 |50,0009 x4 9= 200 200
AL ZARSI A 753 d 22,000 49,260 47,260
1. 98 gAdsy £A2,000 32,200 30,200
7}, By 5 A9 od ) 2,000 8,200 6,200
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oA S Bk GOEEE)

?34 EE el e Az 2237 | 20134 714 | 20134 HF
F A (B) of| 2k (A) A 4H(A+B)
1) A [ m7ia12] 210-06 |100,0009 X119 x 23] = A400 2,600 2,200
2) oH] 220-01 |0€9= 21,600 1,600
A& w23 A850 1,086,068 1,085,218
ASSAHAEEXY A850 269,431 268,581
1. TSR Y 2850 269,431 268,581
7}, F#H 78] A850 53,281 52,431
1) EHLE 1 210-01 |150,00091 X 101%= A850 16,000 15,150
EQgzzy 75,234 303,806 298,572
23l s a5 843} 25,234 293,806 288,572
1. 23l &A8AL9x9 A5,234 270,966 265,732
7F B U A A 210-02 |1,500,0009 x129= A3,600 21,600 18,000
U, AR [ EE7ALS] 8,000 23,000 15,000
1) 7E 8 310-01 |50,0009 X 109 X 30A]7k= A8,000 23,000 15,000
th S n A E-[ 7] 4] 430—01 4,500,000¢ X 1tf= 4,500 4,500
2}, 7)1 7HA 22 A1 A ) 1,866 24,332 26,198
) HAAHTFHE 320-04 |1,866,0009¢l % 1% = 1,866 1,866
AW ER = 210,000 223,034 213,034
R R R AR | 0 56,516 56,516
1. A8 ZHY 0 39,696 39,696
7F. S AR 9,000 9,000
1) o14n] 210-01 |09= 29,000 9,000
2) FYxSsw 620-03 |191,400€ X303 = 5,742 5,742
3) ¥HTsw 620—-03 |191,6009 x121w= 2,300 2,300
4) Ay =sw 620-10 191,600 x51= 958 958
St Z 8 o1 ¢ A10,000 166,518 156,518
1. Sz quxg 210,000 166,518 156,518
7} 2 SskAekA ekl n) 2] 9 210,000 162,558 152,558
1) AujAolga 210-13 |1,46691x8,6727% x1271€4= 10,000 162,558 152,558
TSATAT55R] LAE LY A1,000 30,100 29,100
D5ER Y AE - 21,000 1,500 500
1. AFSFESAEHEY A1,000 1,500 500
7F S EEZ 9| 210-01 |50,0009 X 5% x 23] = 1,000 1,500 500
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719 AR R s wSX] A (Sl @ H9)
Hopr R 9 Al - AFduy el B P 237 | 20139 71 | 20134 HF
ALl Abel A} B - N = - (B) of 2k (A) o 2k (A+B)
AEEX R Y A469,940 9,962,701 9,492,761
W35 E 2% ¢ 10,000 3,742,300 3,752,300
31338l 7 2 10,000 1,753,300 1,763,300
1. 2SEEgALY 10,000 1,083,500 1,093,500
7h [SR] T A& dEmm QA A A5 10,000 10,000
1) Aol 6,638 6,638
7hH B 110-03 |60,2369 %100 = 6,024 6,024
W) IuldZE e 320-05 16,023,600 x4.5%= 272 272
o) AR 320-05 16,023,600 X 2.945%= 178 178
2h) AFAA RS = 320-05 |6,023,6009 X 1%= 61 61
vh) 1L REFEEH 320-05 6,023,600 %1.5%= 91 91
D IR B A NI g = R R = = 320—05 [178,000€ X6.55%= 12 12
2) 91 3,362 3,362
7h A [ REAML 250 250
(1) 7128 210-06 160,000 x 1= 160 160
(2) %3 210-06 90,0009 X 17 X 14| 7k= 90 90
W) g 210-01 14,0009 x 10v)= 140 140
th ol n] 210-01 10,0009 X 50%-= 500 500
b ofn) 220-01 |20,000¢ x 59 x 23] = 200 200
ul) A4 210-06 |50,0009 x5 x 23] = 500 500
Hh) 73] 230—-02 25,0009 X 109 x 23] = 500 500
PASIRARE] 210-04 |7,0009 X107 x 2] = 140 140
o) SHAFL-En) 210—-01 (56,6009 X 10% x 23] = 1,132 1,132
FAA 4 £202,540 1,144,028 941,488
A== SRt PR A202,540 1,144,028 941,488
1. &71E=F424 £202,540 1,144,028 941,488
7F 2E 258w 620-03 |2,20091%1,132% x190Y = A108,680 581,856 473,176
(B st 620-03 |2,60049 X583 x 1904 = A61,256 349,258 288,002
o} A=y 620—10 |2,6004€ %3659 x190d= A32,604 212,914 180,310
=P AR Y A277,400 4,832,860 4,555,460
= A A=Y A277,400 4,832,860 4,555,460
1. 5 ZSH A4 A111,600 2,088,400 1,976,800
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7189 AEEME T SA YA (ko] A 9)
Bopnm 3 3 9] A - Apeiu el g PERp P 227 | 20134 71 | 20134 HF
Abel A} A (B) o 2k (A) o AH(A+B)
7F wEn A A 30,800 1,546,400 1,515,600
1) +d7xd 62003 |60,0009 X 4254 X 10¥= A13,200 268,200 255,000
2) AFE A 620—15 |220.0009 X573 x 109 = A17,600 1,278,200 1,260,600
1= S e a2 P R 80,800 542,000 461,200
1) FHFX4Y 620—03 [50,00090 X417 x109= A15,000 223,500 208,500
2) A4 620—15 |70,0009 X361 x 109 = A 65,800 318,500 252,700
2. 3,44 0L a&10] x| Y A165,800 2,739,300 2,573,500
7 a5H) A Y A78,200 2,047,200 1,969,000
1) ¥HFAd 620-03 60,0001 X418 x 108 = A14,400 265,200 250,800
2) AFH A=A 620—15 [220,0009 X781 x10¥= 263,800 1,782,000 1,718,200
15 L R 2] P R 87,600 692,100 604,500
D +dFx4d 620-03 |50,0009 x 4187 x 102 = A12,000 221,000 209,000
2) AFE A 620—15 |70,0009 X565 x 104 = AT5,600 471,100 395,500
B/ /AE%EF 1,500 2,245,764 2,247,264
A S 3 &F 1,500 99,029 100,529
ASd 3 A4 1,500 99,029 100,529
1. 22 A S 32 1,500 41,750 43,250
7h S F A O & 2537 7] o 5 1,500 1,500
1) Td74n) 310—01 [30,0009 X109 x59= 1,500 1,500
st A F A A e A311,272 31,023,282 30,712,010
st -du| x4 4,950 19,040,994 19,045,944
1T R PR 4,950 19,040,994 19,045,944
1. 719 u| A Y 4,950 170,500 175,450
7t A 7 G 2 A 4,950 4,950
1) ¥HExEgN 4,950 4,950
7hH 97txSs 620-03 |4,950,0009 X 1= 4,950 4,950
ArehA g A | A316,222 11,982,288 11,666,066
JAAR A A ETA L A316,222 9,588,560 9,272,338
1. A g nJAN AR Z S B ZE A316,222 9,480,420 9,164,198
7} AV EEk 620-08 19,164,198,0009= A316,222 9,480,420 9,164,198
Sty WS ANAAL 655,559 19,317,108 19,972,667
AEBAFNANA 655,559 4,057,262 4,712,821
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4% GEEEE)

P P s . 2274 | 201349 714 | 20134 HF
A a R e (B) Ak (A) o AF(A+B)

St A A S ANA 655,559 4,057,262 4,712,821

1. 71ekstn g3 N A A A 48,558 549,292 597,850

7F g En 48,558 549,292 597,850

1) xS 34,568 34,568

7h w3 urE Al 0 A 620-04 |34,568,0009 X 1i1.= 34,568 34,568

2) d3tx5sw 13,990 13,990

7H WS- A %] 620-04 |13,990,0009 x 11.= 13,990 13,990

2. A7|A A RA 256,000 27,000 283,000

7h Fgehn 256,000 256,000

1) Stex5sw 9,000 9,000

7hH Hod g 38 #x 620-04 |9,000,0009 X 1iL.= 9,000 9,000

2) StesH xS 12,000 12,000

7hH Hod g 38 Ax 620-04 |12,000,0009 x 11.= 12,000 12,000

3) EHEHExFT W 12,000 12,000

7hH Hod g 38 #x 620-04 [12,000,0009 X 1= 12,000 12,000

4) G755t 9,000 9,000

7h oA E A #A 620-04 (9,000,000 X 13= 9,000 9,000

5) FAxSEsw 7,000 7,000

7h oA E e #A 620-04 |7,000,0009 X 13= 7,000 7,000

6) detxS5sw 10,000 10,000

7hH A AddE A3 620—04 110,000,000 x11= 10,000 10,000

7) EFARFES 12,000 12,000

7hH Ho A g B A 620-04 [12,000,000¢ X 11.= 12,000 12,000

8) AF%stw 15,000 15,000

7hH A AddE e A 620—04 115,000,000 X 131.= 15,000 15,000

9) et x 1 FE W 15,000 15,000

7hH HdAdEdE A 620—04 115,000,000 X 131.= 15,000 15,000

10) =AY ISty 5w 15,000 15,000

7hH oA =E A A 620-04 |15,000,0009 X 1 3= 15,000 15,000

11) 9ozt 58tw 12,000 12,000

7H HulAgE e x| 620-04 |12,000,0009 X 11= 12,000 12,000

12) A AR5 10,000 10,000

m
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3 (9] - 29

A5 Aol el ERpESS Azl 22157 N 2013 717 | 20134 HF
A B T s (B) A (A) JAH(A+B)
7hH FHod g e x| 620—04 10,000,000 x 11= 10,000 10,000
13) ekAl x5 st 10,000 10,000
7hH Hod g 32X 620—04 10,000,0009 x 11= 10,000 10,000
14) ¥ 5w 10,000 10,000
7H ﬂmx%é}ura 3} 620—04 10,000,0009 x 1 1= 10,000 10,000
15) AFE15n 10,000 10,000
7H zquﬁﬁga 4 620—04 10,000,000¢] X 11= 10,000 10,000
16) ¢ty 158t 10,000 10,000
7hH Hod g 38 Ax 620—04 10,000,000 X 1 1= 10,000 10,000
17) AR 58w 12,000 12,000
7H HujA g A #A] 620—04 |12,000,000¢ x 11w = 12,000 12,000
18) 415w 15,000 15,000
7hH Hod g 38 Ax 620—04 15,000,000 X 1 1= 15,000 15,000
19) #dsga 12,000 12,000
7hH Hod g 38 #x 620-04 |12,000,0009 X 1iL= 12,000 12,000
20) dHAR 15w 12,000 12,000
7h oA E A #A 620-04 12,000,000 x 11w = 12,000 12,000
21) #3tasstu 12,000 12,000
7hH A AdsE A A 620-04 12,000,000 x 11w = 12,000 12,000
22) st=2Ad et g =dh gy 15,000 15,000
7hH HulAdeE e 4 620—04 15,000,000 x 1= 15,000 15,000
3. ZAESYEANA A10,473 381,900 371,427
7F sty 710,473 381,900 371,427
1) dgxsstu 420-03 |5,700,0004 x 204 = A10,473 125,400 114,927
4. EAA 47,040 21,940 68,980
7}, 2 st 47,040 21,940 68,980
1) SEFH x5 620—04 |2,940,0009 x 1624 = 47,040 47,040
5. FEINA 370,300 0 370,300
7F sty 370,300 370,300
1) +EExEsw 420-03 [16,100,0009 x 234 = 370,300 370,300
6. A NA £29,696 730,808 701,112
7F wgdw ~29,696 730,808 701,112
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719 AR R s wSX] A (Sl @ H9)
Bopnzm g A 9l Al - Apeluj el B P 2279 | 20139 714 | 20139 HF
Abel A} A (B) o 2k (A) o AH(A+B)
1) SFEAME =8 A14,907 436,160 421,253
7H A A A A 420-03 |73,00091X51.79m'= A14,907 18,688 3,781
2) R =y A14,789 222,111 207,322
7hH A1AH] 420-03 |1,580,000¢1 X 120.64m'= A14,789 205,400 190,611
7. ABANA A26,170 49,170 23,000
7F B8k 226,170 49,170 23,000
1) dEAR TS 420-03 |149,0009 X 154.36m'= A26,170 49,170 23,000
sy 4,131 951,359 955,490
71347 4,131 646,069 650,200
7] B8] 4,131 581,589 585,720
AT Y 4,131 581,589 585,720
1. 7] B9 FEA 3,211 401,469 404,680
7} =SR] A 3,211 176,122 179,333
1) YR8 3,211 14,770 17,981
7hH FAGH AR E 210-01 |321,100¢1 X 10%= 3,211 3,211
2. AAREAMNA 920 26,640 27,560
7}, AR A 7} 920 18,930 19,850
1) AAFH EH) 920 18,930 19,850
7hH A& Ak 430-01 [230,0009 x4v)= 920 920
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